
03/13/06
Configuration 95-00147-301

30" Sit / Stand Vertical Wall Track System

95-00147-301

56-01 55TH AVENUE
MASPETH, NY 11378
888.222.7270
www.hergo.com

83-02000-200
1

83-02000-230
1

LA-12
 

1

1

1

2

3

4

LA-251SP 

15

16

Item # Illustration Part Number & Description Qty.

Keyboard Tray

Mouse Tray
Laminated Wood

83-02000-235
Adapter Plate for KB Tray

Track Plate for KB Arm
(Includes 4 Screws)

15-00036-L12
 Keyboard Arm

15-00052-034

Assembly View
1

3

2

Keyboard / MouiseTray Assembly

5
4

10-32 Locking  Nut

4 4
 (83-28002-010)

A

Qty.

6-32  Hex Nut
 (83-28002-060)

B

4

# 8 Split Washer
 (83-28004-015)

C

1

10-32 x 1/2 
Phil HD. Screw

D

A

B
C

D

Hardware Kit

 (83-28001-037)
MH-008 
15-00220-025
Mouse Holder 

6

83-02000-200
1

83-02000-230
1

LA-12
 

1

1

1

2

3

4

LA-251SP 

15

16

Item # Illustration Part Number & Description Qty.

Keyboard Tray

Mouse Tray
Laminated Wood

83-02000-235
Adapter Plate for KB Tray

Track Plate for KB Arm
(Includes 4 Screws)

15-00036-L12
 Keyboard Arm

15-00052-034

Assembly View
1

3

2

Keyboard / MouiseTray Assembly

5
4

10-32 Locking  Nut

4 4
 (83-28002-010)

A

Qty.

6-32  Hex Nut
 (83-28002-060)

B

4

# 8 Split Washer
 (83-28004-015)

C

1

10-32 x 1/2 
Phil HD. Screw

D

A

B
C

D

Hardware Kit

 (83-28001-037)
MH-008 
15-00220-025
Mouse Holder 

6

LA-12
 15-00036-L12
 LCD Arm 
 Includes 100mm plate

15-00052-032
Includes
hardware
as shown.

8

Vesa 100 mm Plate
Use when required
for larger monitors.

LA-251

1

1

7

8

Wall Mount Track with
LCD Mounting Plate

LCD Assembly

7

Side ElevationAssembly View Folded Position Track Dimensions

4.50"

.750"

31.50"

19"


